		LIST OF CLINIC / NURSING HOME SITES TO BE E-AUCTION ON 09.09.2022 ALL ZONES							
Sr No	Auction Id	Estate	Sector	Active Plots Name	Auction Description	Area (Sq Mtr)	FAR	Reserve Price	EMD Amount
1	20387	Ambala	27	Clinic Site No I (Near Plot No-315P)	Clinic Site (22.00 x 10.50), Area = 231.00 sqm	231	1.5	4712400	235700
2	20388	Ambala	27	Clinic Site No II (Near Plot No-315P)	Clinic Site (22.00 x 10.50), Area = 231.00 sqm	231	1.5	4712400	235700
3	20389	Ambala	27	Clinic Site No III (Near Plot No- 315P)	Clinic Site (22.00 x 10.50), Area = 231.00 sqm	231	1.5	4712400	235700
4	20390	Ambala	27	Clinic Site No IV (Near Plot No- 315P)	Clinic Site (22.00 x 10.50), Area = 231.00 sqm	231	1.5	4712400	235700
5	20391	Gurugram-I	9	Nursingh Home No 3 (CORNER)	Nursing home site (eAuction) (30.00 x 13.30) (Corner), Area = 399.00 sqm	399	1.5	26334000	1316700
6	20392	Gurugram-I	9	Nursing Home No 1 (Corner)	Nursing home site (eAuction) (30.00 x 13.30) (Corner), Area = 399.00 sqm	399	1.5	26334000	1316700
7	20393	Gurugram-I	9	Nursing Home No 2	Nursing home site (eAuction) (30.00 x 13.30), Area = 399.00 sqm	399	1.5	23940000	1197000
8	20394	Gurugram-I	9A	Nursing Home No 2	Nursing home site (eAuction) (28.00 x 15.00), Area = 420.00 sqm	420	1.5	25200000	1260000
9	20395	Gurugram-I	9A	Nursing Home No 3 (SHOPING)	Nursing home site (eAuction) (28.00 x 15.00), Area = 420.00 sqm	420	1.5	25200000	1260000
10	20396	Gurugram-I	9A	Nursing Home No 4 (SHOPING)	Nursing home site (eAuction) (28.00 x 15.00), Area = 420.00 sqm	420	1.5	25200000	1260000
11	20397	Gurugram-I	9A	Nursing Home No 5 (SHOPING)	Nursing home site (eAuction) (28.00 x 15.00), Area = 420.00 sqm	420	1.5	25200000	1260000
12	20398	Gurugram-I	9A	Nursing Home No 7 (SHOPING)	Nursing home site (eAuction) (28.00 x 15.00), Area = 420.00 sqm	420	1.5	25200000	1260000
13	20399	Gurugram-I	21	Nursing Home Site	Nursing Home site (588.90), Area = 588.90 sqm	588.9	1.5	35334000	1766700
14	20400	Gurugram-I	21	Nursing Home Site	Nursing Home site (643.25), Area = 643.25 sqm	643.25	1.5	38595000	1929800

15	20401	Gurugram-II	52	Nursing Home Site I	Nursing Home Site I, (457 sqm), Area = 457.00 sqm	457	1.5	27420000	1371000
16	20402	Gurugram-II	52	Nursing Home	Nursing Home (647.87 sqm), Area = 647.87 sqm	647.87	1.5	38872200	1943700
17	20404	Gurugram-II	38	Nursing Home Site No.7 (Preferential)	Nursing home site (eAuction) (Corner), Area = 416.82 sqm	416.82	1.5	47514000	2375700
18	20405	Gurugram-II	49	Nursing Home Site No.101 (Preferential)	Nursing home site (eAuction) (Corner), Area = 526.11 sqm	526.11	1.5	34723400	1736200
19	20406	Gurugram-II	24-25A	Nursing Home No.1	Nursing home site (eAuction), Area = 505.86 sqm	505.86	1.5	30351600	1517600
20	20407	Gurugram-II	24-25A	Nursing Home No.2	Nursing home site (eAuction), Area = 505.88 sqm	505.88	1.5	30352800	1517700
21	20408	Faridabad	29	Nursing Home Site No.A	Nursing Home Site (418.19) (30.48 x 13.72), Area = 418.19 sqm	418.19	1.5	17564100	878300
22	20409	Faridabad	29	Nursing Home Site No.B	Nursing Home Site (418.19) (30.48 x 13.72), Area = 418.19 sqm	418.19	1.5	17564100	878300
23	20410	Faridabad	64	Nursing Home Site No.3	Nursing Home Site (450) (30 x 15), Area = 450.00 sqm	450	1.5	18900000	945000
24	20411	Faridabad	14	Clnic Site No.1	Clinic Site (eAuction), Area = 204.30 sqm	204.3	1.5	8580600	429100
25	20412	Faridabad	21D	Nursing Home Site No.4	Nursing home site (eAuction), Area = 418.03 sqm	418.03	1.5	17557400	877900
26	20413	Faridabad	21D	Nursing Home Site No.5	Nursing home site (eAuction), Area = 418.03 sqm	418.03	1.5	17557400	877900
27	20414	Faridabad	21D	Nursing Home Site No.6	Nursing home site (eAuction), Area = 418.03 sqm	418.03	1.5	17557400	877900
28	20415	Faridabad	21D	Nursing Home Site No.7	Nursing home site (eAuction), Area = 418.03 sqm	418.03	1.5	17557400	877900
29	20416	Faridabad	29	Clinic Site No.3	Clinic Site (eAuction), Area = 208.94 sqm	208.94	1.5	8775500	438800
30	20417	Faridabad	3	Clinic Site No.A	Clinic Site (eAuction), Area = 247.50 sqm	247.5	1.5	10395000	519800
31	20418	Faridabad	3	Nursing Home Site No.A	Nursing home site (eAuction), Area = 420.00 sqm	420	1.5	17640000	882000
32	20419	Faridabad	3	Nursing Home Site No.B	Nursing home site (eAuction), Area = 420.00 sqm	420	1.5	17640000	882000
33	20420	Faridabad	3	Clinic Site No.C	Clinic Site (eAuction), Area = 247.50 sqm	247.5	1.5	10395000	519800

34	20421	Faridabad	3	Nursing Home Site No.C	Nursing home site (eAuction), Area = 420.00 sqm	420	1.5	17640000	882000
35	20422	Faridabad	3	Nursing Home Site No.D	Nursing home site (eAuction), Area = 420.00 sqm	420	1.5	17640000	882000
36	20423	Faridabad	37	Clinic Site No.7	Clinic Site (eAuction), Area = 236.82 sqm	236.82	1.5	15705000	785300
37	20424	Faridabad	46	Nursing Home Site No.A	Nursing home site (eAuction), Area = 420.00 sqm	420	1.5	17640000	882000
38	20425	Faridabad	46	Nursing Home Site No.B	Nursing home site (eAuction), Area = 420.00 sqm	420	1.5	17640000	882000
39	20426	Faridabad	46	Clinic Site No.B	Clinic Site (eAuction), Area = 209.00 sam	209	1.5	9007800	450400
40	20427	Faridabad	46	Clinic Site No.C	Clinic Site (eAuction), Area = 209.00 sqm	209	1.5	9007800	450400
41	20428	Faridabad	46	Nursing Home Site No.C	Nursing home site (eAuction), Area = 420.00 sqm	420	1.5	17640000	882000
42	20429	Faridabad	46	Clinic Site No.D	Clinic Site (eAuction), Area = 209.00 sqm	209	1.5	9007800	450400
43	20430	Faridabad	46	Nursing Home Site No.D	Nursing home site (eAuction), Area = 420.00 sqm	420	1.5	17640000	882000
44	20431	Faridabad	46	Nursing Home Site No.E	Nursing home site (eAuction), Area = 415.80 sqm	415.8	1.5	17463600	873200
45	20432	Faridabad	62	Nursing Home Site No.1	Nursing home site (eAuction), Area = 420.00 sqm	420	1.5	17640000	882000
46	20433	Faridabad	62	Nursing Home Site No.2	Nursing home site (eAuction), Area = 420.00 sqm	420	1.5	17640000	882000
47	20434	Faridabad	62	Clinic Site No.4	Clinic Site (eAuction), Area = 220.00 sqm	220	1.5	9240000	462000
48	20435	Faridabad	62	Clinic Site No.5	Clinic Site (eAuction), Area = 220.00 sgm	220	1.5	9240000	462000
49	20436	Faridabad	64	Nursing Home Site No.2	Nursing home site (eAuction) (30 x 15), Area = 450.00 sqm	450	1.5	19394700	969800
50	20437	Faridabad	64	Nursing Home Site No.4	Nursing home site (eAuction), Area = 418.03 sqm	418.03	1.5	18016900	900900
51	20438	Faridabad	65	Clinic Site No.2	Clinic Site (eAuction), Area = 209.00 sam	209	1.5	8778000	438900
52	20439	Faridabad	65	Clinic Site No.3	Clinic Site (eAuction), Area = 209.00 sgm	209	1.5	8778000	438900
53	20440	Faridabad	65	Clinic Site No.4	Clinic Site (eAuction), Area = 209.00 sqm	209	1.5	8778000	438900
54	20441	Faridabad	65	Nursing Home Site No.4	Nursing home site (eAuction), Area = 434.00 sqm	434	1.5	18228000	911400

		Note 2	EMD is calculated on Reserve Price, the first round of bidding will start from Reserve Price fixed by HSVP.							
		Note 1	Bidders are requested to check final list before bidding.							
71	20458	Kurukshetra	2	Nursing Home Site No.1	Nursing home site (eAuction), Area = 580.00 sqm	580	1.5	10788000	539400	
70	20457	Kaithal	20	Clnic Site No.1	Clinic Site (eAuction), Area = 390.10 sqm	390.1	1.5	10998000	549900	
69	20456	Panipat	25P-II	Nursing Home No.4	Nursing Home No.4 (552.99), Area = 552.99 sqm	552.99	1.5	17253400	862700	
68	20455	Panipat	25P-II	Nursing Home No.3	Nursing Home No.3 (535) (Corner), Area = 535.00 sqm	535	1.5	18361200	918100	
67	20454	Panipat	25P-II	Nursing Home No.2	Nursing Home No.2 (535) (Corner), Area = 535.00 sqm	535	1.5	18361200	918100	
66	20453	Panipat	13	Nursing Home No.4	Nursing Home No.4 (420.54), Area = 420.54 sqm	420.54	1.5	38421700	1921100	
65	20452	Panipat	13	Nursing Home No.1	Nursing Home No.1 (420.91), Area = 420.91 sqm	420.91	1.5	38455500	1922800	
64	20451	Panipat	13	Nursing Home No.7	Nursing Home No.7 (420.54), Area = 420.54 sqm	420.54	1.5	38421700	1921100	
63	20450	Hisar	24	Clinic Site	Clinic Site (Adjoining to Plot No.72 GP) (15.68+19.53/2 x 18 = 316.89), Area = 316.89 sqm	316.89	1.5	7225200	361300	
62	20449	Hisar	24	Nursing Home Site	Nursing Home Site (Adjoining to Plot No.55P) (19.53+23.39/2 x 18 = 386.28), Area = 386.28 sqm	386.28	1.5	8807300	440400	
61	20448	Rewari	3	Nursing Home Site No.1 (Preferential)	Nursing home site (eAuction)(Corner), Area = 400.20 sqm	400.2	1.5	8980600	449100	
60	20447	Dharuhera	6	Clinic Site No.2 (Preferential)	Clinic Site (eAuction) (Corner), Area = 209.00 sqm	209	1.5	4690000	234500	
59	20446	Dharuhera	6	Nursing Home Site No.2	Nursing home site (eAuction) (25.00 x 23.50), Area = 587.50 sqm	587.5	1.5	11985000	599300	
58	20445	Dharuhera	6	Nursing Home Site No.1	Nursing home site (eAuction) (25.00 x 23.50), Area = 587.50 sqm	587.5	1.5	11985000	599300	
57	20444	Faridabad	78	Nursing Home Site No.3	Nursing home site (eAuction), Area = 450.00 sqm	450	1.5	18900000	945000	
56	20443	Faridabad	78	Nursing Home Site No.2	Nursing home site (eAuction), Area = 450.00 sqm	450	1.5	18900000	945000	
55	20442	Faridabad	78	Nursing Home Site No.1	Nursing home site (eAuction), Area = 450.00 sqm	450	1.5	18900000	945000	